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Algebra with a Spreadsheet

Using Fireworkz, load the spreadsheet machine 1.
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The screen shows a mystery number machine.

?

Type a number into the input column, and guess what the output number will be.  Type your guess into the output column, and the computer will say yes or no.  If it says no, try another guess.

Try to work out the rule it’s using, so that you can get the output right for any input number.  When you think you know the rule, you can check it by typing a formula in the output column.  Here’s how you do it:

Step 1: click in cell C3.

Step 2: type = then type your rule using numbers and +, -, * , /.  You can type B3 or click on the input number when you want to use it in your formula.

Step 3: press RETURN when you’ve finished your formula, and the computer will work out the output.  If it’s wrong, try another rule.

Step 4: drag with the mouse to select all the output numbers - the cells will go black.  Click on the downward arrow at the top left of the spreadsheet to copy your rule down the output column.

Your formula should work for all the numbers - if not, try again.

Now fill in the answer sheet.  Write down your rule two different ways:

· on the number machine

· as a spreadsheet formula using B3

The first ones will be easy, then they get harder and you will need two machines.

Tell your teacher when you have finished.

Maths formulas are a little different from spreadsheet formulas:

· Use a single letter such as x to stand for the input number and y to stand for the output number

· If there is a multiplying number, put it in front of the letter

· Miss out the *

For example, =B3*2+1 becomes y=2x+1


Name:  ______________________________________________

Algebra Test

Section A
You may work with your partner to answer these.

1. This is about number machines.

	a. Here is a machine which multiplies by 2
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If the input is 4, what is the output?_______

b. Here is a machine which adds 3
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If the output from this machine is 4, what

was the input? _________


	c. Complete this machine: 
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d. Here is another way to turn 3 into 9.

It uses a two stage machine:
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Use the same machines to turn 3 into 12:
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e. Here is a table to show what the 2 machine does to different numbers.

Complete the table:

	input
	output
	

	1
	2
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	2
	4
	input

2

output

	3
	6
	

	4
	
	

	5
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f. Here is a number machine: 
Input

+2

Output

Complete this new machine which will turn the output number 

from the +2 machine back to the input number.
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g. Complete the number machine for this table:

	input
	output
	

	1
	5
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	2
	6
	input



output

	3
	7
	

	4
	8
	

	5
	9
	


2.When you make squares out of matchsticks, you need four matches to make one square.
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	a. Put these results in the table and
	squares
	matches

	continue for 4 squares and 5 squares.
	1
	4

	
	2
	

	b. How many matches would you need
	3
	

	for 50 squares? __________
	4
	

	
	5
	


c. Write down a rule which tells you how to work out the number of matches from the number of squares.

____________________________________________________
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